
FOLDABLE HANGING EGG 
CHAIR
Assembly Instructions
Item number:0263652



A
 勹
B

 

c

 

D
 

xl 

xl 

xl 

xl 

E
 

xl 

AA a I I M8x55 x2 

BB 户 M8x30 x4 

cc 忙二 M8x15 x2 

DD 肛:z::::::::::J M6x65 xl 

EE ＠ MS x12 

FF ＠ M6 x2 

GG B MS x6 

HH e M6 xl 

II 启 MS x6 

JJ 的 M6 xl 

KK 0) M8
x6 

LL (] M6 xl 

MM g MS x6 

NN 三迈划胆迄二 M8 xl 

00 ｀二） xl 

pp 芒 xl 

QQ ｀ xl 

RR f xl 

ss 令 � xl 

l

Chair base

Washer

Washer

Bolt Cover

Bolt Cover

Nut Cover

Nut Cover

Nut

Nut

Bolt

Bolt

Bolt

Bolt

Cushion

Plastic washer

Allen Key

Spanner

Spring washer

Spring

Chain guard

Decorative part

Standing pole

Seat&safety strap

Hanging pole



2

1.Attach the standing pole (B)
to the chair base ( A), using
bolts(CC), washers (EE&MM)
and nuts
(GG).When all bolts are in
position, tighten securely
using Allen Key (RR) and
spanner (SS). Cover the nuts
with the nut covers (II), cover
the bolts with the bolt covers
(KK).



X V 

3

2.Connect the hanging pole (C)
with the standing pole (B), using
bolts(AA), washers (EE) and nuts
(GG).When all bolts are in
position, tighten securely using
Allen Key (RR) and spanner (SS).
Cover the nuts with the nut covers
(II).
3.Put the chain guard on hook.



（
三

4

4.Open the seat, then lock
with bolt(DD),
washer(FF&OO), nut(HH).
Finally, cover the bolt with
bolt cover(LL), cover the
nut with nut cover(JJ).



5.Attach the seat (D) to the hanging pole (C),
using spring (NN).  Unscrew the buckles on
each end of the spring and hook into the seat
and hanging pole.  Then re-tighten the buckles
securely.

6.Secure the safety strap around the base of the
seat and standing pole, to ensure that you seat
does not swing too much.



CUSTOMER NOTICE:
Failure to appropriately secure the 
safety strap may result in personal 
injury. Ensure it is safely connected 
before each use.


	说明书
	GCS09149A说明书
	1.pdf
	2.pdf
	3.pdf

	GCS09149A说明书(秦选斌)
	4.pdf

	GCS09149A说明书
	5.pdf
	6.pdf


	未标题
	空白页面




